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General Instructions to Candidates :
® There is a ‘cool-off time’ of 15 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read the instructions carefully.

® Read questions carefully before answering.

1. Read the given passage from ‘When a Sapling is Planted’ and answer the questions

given below :

(B3 x1=3)

“As the first African woman to receive this prize, I accept it on behalf of the people of

Kenya and Africa, and indeed the world.”

(@)  Whois the ‘I’ referred to here ?

(i)  Christine Lagarde
(i1))  Shaheen Mistri

(iii)) Wangari Maathai

(b)  Which is the prize mentioned here ?

(c)  On whose behalf is she accepting the prize ?
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2. Choose the correct answer from those given in brackets. B x1=3)

It was a large (a) (smooth/flat) stone placed horizontally over two vertical ones.
(b) (Cool/Hot) water would be kept in (c) (steel/earthern) pots near the

bench and people could quench their thirst before starting their journey.

3. Read the given dialogue between John and his father Robert Baldwin and complete the

paragraph suitably. 3)

John : Father, why don’t you accept the money from Gresham ?

Baldwin : I’ve got only a few years to live but I’ll live those as I’ve lived the rest of

my life.

John asked his father Baldwin why (a) from Gresham. To this Baldwin replied
that he had (b) life.

4.  Complete the following using the correct tense forms of the verbs given in brackets. 2)

My friend (a) (be) in Delhi now. When | (b) (see) him last year, he was

in Mumbai.

5. Edit the following passage correcting the mistakes. A3)

The brain govern sensations, moods, thoughts and actions, not by a magical process,

but by a incredibly complex series in chemically regulated controls.

SY 61 2



6.  Fill in the blanks using suitable prepositions. 2)

The father had written a thesis (a) infant psychology for his M.A., and the lady
had studied a great deal of it (b) her B.A.

Answer any 4 questions from 7 to 11. Each carries 4 scores. 4 x4=16)

7.  What are the 3L’s of empowerment ? How do they help to empower women ?

8. Justify the aptness of the title of the play ‘The Hour of Truth’.

9.  Imagine that Irfan Alam is visiting your school for inaugurating the career guidance
unit in your school. As the school leader you are asked to interview him. Prepare

four questions you would ask him.

10. What changes in the native village did the narrator in the poem “Rice” notice on his

return ?

11. The boy in ‘Crime and Punishment’ felt sorry for his misbehaviour towards the teacher.
When the teacher leaves after the class, he decides to send a note of apology for him.

Write a letter of apology for him.
You may begin like this.
Dear Teacher,

L am 1€allY SOTTY ..vntit it



Answer any 4 questions from 12 to 16. Each carries S scores. 4 x5=20)

12. “Stop it ! What a common vulgar man you are !” Based on this comment made by
Nomita in the story ‘Match box’, sketch the character of Ajit, her husband in a short

paragraph.

[Hints : suspicious nature — dominating — heartless — unsympathetic etc.]

13. Your school has decided to give free education to a group of poor children from the
flood affected areas in your district. You would like to inform Shaheen Mistri about

this and invite her to visit your school. Prepare an e-mail to be sent.

14. “My apple trees will never get across

And eat the cones under his pines,

I tell him

He only says, “Good fences make

good neighbours.”

[From ‘Mending Wall’]

Elaborate the message conveyed through these lines.

15. The Arts Club of your school has decided to enact the play ‘Post Early for Christmas’
in the annual day celebrations. Prepare the script of announcement you would make to

introduce the play.
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16. The Health Club of your school has decided to conduct an anti-drug campaign in your
locality to give awareness about the consequences of using drugs. Prepare a short

paragraph advising them against the use of drugs.

Answer any 2 questions from 17 to 19. Each carries 6 scores. 2x6=12)

17. Do you think that grandfather and Ratna in the story ‘Horegallu’ were doing some
social service. Being a student, how can you serve the humanity around you ? Write

your answer in the form of a persuasive speech to be presented in the school assembly.

[Hints : Arrange awareness programmes against social evils like corruption, dowry etc.
— blood donation — collect waste and dispose — wall notice against garbage dumping —

plant trees on the roadside — promote organic farming etc.,]

18. The box given below contains information about Antonio and Felix in ‘Amigo

Brothers’.

° Felt themselves to be brothers

° Slept, ate, rapped and dreamt positive

° Wanted to become champions in the Golden Gloves Championship Tournament

Now, prepare a write-up on the friendship portrayed in the story.
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19. The events that led to the climax of the play ‘Post Early for Christmas’ are given below.

Arrange them in sequential order and write in a paragraph.

* A foreign tourist came to send a parcel to his friend.
* It was Christmas time and people came to the post office to send parcels and
cards.

Actually it was only an expensive clock.

Mrs. Higgin’s naughty son, Berttie, heard a ticking sound from the parcel and

brought a policeman.

* Farmer, Mr. Brown warned the postal assistant regarding time bombs send as
parcels.
* They concluded that it was a time bomb and threw it into a bucket of water.
Answer any 2 questions from 20 to 22. Each carries 8 scores : 2x8=16)

20. Dr. Hardin B. Jones in his essay ‘Dangers of Drug Abuse’ says, “Drugs, after all, act
directly on the brain and cause mental mechanisms to respond abnormally. The risks
are great for the persistent user.” We know that drug related health hazards are many
and varied. Identify the health hazards caused by the abuse of drugs and prepare an
essay on the topic ‘The Menace of Drugs’ based on the hints in the diagram given

below :
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21.

22.

A charitable trust in your locality is planning to give English classes to the children
below 15 years. They are looking for volunteers to help them in tutoring the children
from economically and socially backward areas. You are applying for the job. Write an

application and resume with necessary details.

Read the given poem and compare it with ‘Any Woman’ by Katharine Tynan.
To My Mother
- Edgar Allan Poe
Because I feel that, in the Heavens above,
The angels, whispering to one another,
can find, among their burning terms of love,
None so devotional as that of ‘Mother’
Therefore by that dear name I long have called you
You who are more than mother unto me,
And fill my heart of hearts, where
Death installed you
In setting my Virginia’s spirit free
My mother — my own mother, who died early
Was but the mother of myself, but you
Are mother to the one I loved so dearly
And thus are dearer than the mother I knew,
By that infinity with which my wife

was dearer to my soul than its soul’s life.
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Answer all questions from 1 to 5. Each carries 1 score. 5x1=5)

1. is used to accelerate changed particle.

2. A diamagnetic substance have susceptibility

(<1,>1,=1)

3. Working principle of AC generator is

4. Sl unit of power of lens is

5. The total energy of an electron is

Answer any 7 questions from 6 to 14. Each carries 2 scores. (7x2=14)

6.  Write any two basic properties of electric charges.

7. What do you mean by electrostatic shielding ?

8. Derive an expression for effective resistance in series combination.

9.  What are Eddy currents ? Give its uses.

10. A step down transformer consist of 1000 turns in primary and 100 turns in secondary. If

an input voltage is 230 V, what will be the output ?

11. Short wave bands are used in long distance radio broadcasts. Why ?

12.  What is the effect of frequency of incident radiation on stopping potential ?
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13.

14.

15.

16.

17.

18.

19.

20.

21.

Write any two postulates of Bohr atom model.

Draw the logic representation and truth table of OR gate.

Answer any 7 questions from 15 to 23. Each carries 3 scores. (7x3=21)
(a) State Gauss’ law in electrostatics. 1
(b) Find the electric field due to an infinitely long straight uniformly charged wire. 2)
(a) In which combination of capacitors will get maximum value of effective
capacitance ? 1)
(b) Find the effective capacitance of the following circuit : 2)

Write any three properties of magnetic field lines.

With the help of a Phasor diagram, find impedance in series LCR circuit.

A plane electromagnetic wave of frequency 25 MHz travels in free space along ‘x’

direction. At a particular point in space and time E = 6.3 3\ v/m, what is the magnitude
of B at that point ?

(Hint : ¢ =3 x 108 m/s)

Derive the relation between focal length and radius of curvature of a concave mirror.

What is the de-Broglie wavelength associated with an electron moving with a speed of

5.4 x 10% m/s.

[Hint : Mass of electron = 9.11 x 107! kg

SY 63
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22.

23.

24.

25.

26.

27.

28.

(a)
(b)

Write Einstein’s mass-energy equivalent relation.

State nuclear binding energy.

Complete the block diagram in communication system :

Answer any 4 questions from 24 to 28. Each carries 5 scores.

(a)
(b)

(a)
(b)

(a)
(b)
(c)

(a)
(b)

(2)
(b)
(©)

SY 63

With the help of a circuit diagram, explain Wheatstone’s Bridge.

Write any one application of Wheatstone Bridge.

State and explain Biot-Savart’s law.

Derive an expression for magnetic field on the axis of a circular current loop.

What is the purpose of microscope ?
Draw the image formation in compound microscope.

Explain its magnification.

State Huygen’s principle.

Derive Snell’s law on the basis of refraction of plane wave front.

Write the use of a junction diode.
Explain any of its use with output wave form.

How a zener diode work as a voltage regulator ?
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1)
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2

1)
“)

0y
2
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22.

23.

24.

25.

26.

27.

28.

(2)
(b)

©ag)BAVINNOHAG aflomv-9DE2E2 MIMWLo af) 9)D)D> 1

MRHIA OeMIMBWlow) 9V@RR MIBELOVEMO E1a QY M. 2)

@RUoallila® AVallwoMETIeL! GeRIOBs 2 il(@o al)BBTNWOBe)H: :

24 ay®@3 28 2190W)BS ¢210333SEG3 aBO@BILN0 4 af)ANATIM DBNOo af) ;).

5 capod afl®eo. (4 x5=20)
(@) all@odileng avatoeamaas allgaued Enilawe?” allvddle:dlas)s:. ()]
(b) aflgayem Enilawedlond agemesene B0) DalEIW af) 9@ @
(@)  MIWIAS-TLAIAT MR (IR 0llUoEleElH9)D . ?2)

(b)

(b)
(c)

(2)

(b)

(2)

(b)

(c)
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e There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.
e Read the instructions carefully.
e (alculations, figures and graphs should be shown in the answer sheet itself.
e Malayalam version of the questions is also provided.
e (Give equations wherever necessary.
e Electronic devices except non-programmable calculators are not allowed in the
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fl3§080kd 0396 B3 ) 12@))MIBCFI060BI3 :

o MdGlay M2EOTIN aj0oa 15 2lTlg ‘@08 B0 ©6So” 2eMBOWVIBlEe)0.

°* ‘@B Blab O9SO’ CaldBIEBUd al@lal®ea|SOM) DTMOBUB @RYAVY®EMo
£21Q0M)o DalGWIUIHN)D.

*  DOMAIBUY af)P)AN@IM MM G2 10346303 URLIaBQo AIWSBHEMo.
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*  @AICDIMBS TLOLIDTH TVAAUIDYEBBUD IBHISIBNEMo.

*  COWIMBDUD  HalGIMIBHOOD  HOTIANCLIQO)DHURB  BYOHWBB  B30)
EDRIBESIEM D Daldh0eMANo alBld:0a00H@3 DalcOUl¥e)0I108 al10SIg).
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Answer all questions from 1 to 9. Each carries 1 score. 9x1=9)
1. Which of the following is a molecular solid ?

(Diamond, Graphite, Ice, Quartz)

2. Identify the weak electrolyte from the following :

(KCI, NaCl, CH,COOH, KBr)

3. Which among the following is not an electrical properties of colloids ?

(Coagulation, Tyndall effect, Electro osmosis, Electrophoresis)

4.  The ions / molecules bound to the central atom / ion in the co-ordination entity are

called

5. Who was the first to describe the bonding features in co-ordination compounds ?

6.  The rate of reaction depends on the concentration of both alkyl halide and

nucleophile.

(Sy 1, S\2, Elimination, Sublimation)

7. The most basic compound among the following aqueous solution is

C,HsNH,, C(HsNH,, NH3, (C,Hs),NH

SY 64 2



1 :)®@8 9 0160W)HS af)EI0 G2 10BIIBUWBAN) PBMAo af) 9)®)d. 1 caPId alloo.
Ox1=9)
1.  cmoglen)rnd cavosgiay @6 @IMIGEen)MAIRIG3 ag@osem ?

(WAETE, (NIOBNY, Haf)TV, HIOAIV)

2. ©6% ®@aldlesanalded mlan alles gheleesie6elq @ldlalolw)d :

(KCI, NaCl, CH,COOH, KBr)

3. 0306800)®8)0S HHQIBJM QVI@IA GHIEMISNHIDH® MINY MATIBlHeMAUDI@3
aR@®o6m ?
(6300ONEEIHM, SIBABS (A IGINEIMVo, EDEIGHESO OTVEAITVITY, HAIGE(SO-

Ganoalavlav)

4. @MuMESO3 @Yo / @PEIaMAX mIMWlaflafldlesan @ecwosmd /| @mo@aiee!

C20BUIEManmd af)adglglow ag)am) allgleeymm).

5. GHOAWIEMaHM TLoWBMBBBINS NIMWM  (AICDIDHOIDHUB @YD G@RYBiA0WS

aflvodlaalajo ?

6. (101BTMOTOMR WOBE BRYTONINE3 a0IOOLIAUWIECIRWIo MYHIEWO-
0a0elcdio NIUW®SH® qVIUIMIBHAM.

(Sy1s SN2, ageflalemauad, avenfleacuad)

v

7. @6y ®arldleeam el c1oMIQIE3 @)SIw GnITUle: M@)o @Y.

C,HsNH,, C(HsNH,, NH3, (C,Hs),NH
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(Maltose, Sucrose, Fructose, Cellulose)

(Equanil, Aspirin, Serotonim, Cimetidine)

Answer any 10 questions from 10 to 22. Each carries 2 scores.

Identify an analgesic from the following :

Which of the following is a polysaccharide ?

10. Write any two applications of Henry’s law.

11. Write any two factors influencing rate of a reaction.

12.  Match the following :

(1) | Distillation (a) Ge
(i1) | Liquation (b) Ni
(ii1) | Zone refining (©) Zn
(iv) | Vapour phase refining (d) Sn

13. Differentiate calcination and roasting.

14.  Write any two uses of ammonia.

SY 64 4
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8.  Galoglavoes @ ®oe¥ ®aNIGlen)mMAIRI@3 ag@osm ?

(2003EZ0aV, AVIEEHIAV, (AOGHESOAV, HAVENELIIAV)

9.  ®06Y¥ ®IMIAlENMAUDIE3 GRMIGRAVD: @Gl |0lw)d: :

(0 MN@B, @RV N@Iad, HaTLENoEZ6lo, mimﬁ@mgcuﬂoﬁ)
10 2)®@3 22 Q19OW)BS ¢2103BEIG3 aBo®BIENo 10 afANODTIM D00 af) P}
2 capod afl®eo. (10 x 2 =20)

10.  ©a0mdlav Mlac®lond a@e@Elene 0ME (1 ICRINEBUD af) $)O)D .

1. adommnosilond dlogslom  aupWlmlenam «go@slene M8 “LISGHEBUD

) 9} ).

12, Gal@)alS] Gal@o0)H

(i) | gdleelauad (a) Ge
(ii) | ellaneauad (b) Ni
(iii) | caVLI6M BlOOAnMlow) (c) 7n
(iv) | €ala]d CanaV 0loeanmlouy (d) Sn

13. @0m3aflematiM)o @OOQYlo)o ®IO®A Lo a1 ).

14.  @RER6MIWOIWNS aBOMESILI0 QMNE DalCWINEIBUD af)P))d:.
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15.

16.

17.

18.

19.

20.

21.

22.

Transition metals exhibit catalytic properties. Why ?

What are the limitations of Valence Bond Theory ?

Identify the product and name the reaction :

dry

+ CH3CI + 2Na——=— Product
ether

What is Freons ?

Name the two methods used for the preparation of ether.

Write the name of two tests to distinguish between aldehydes and ketones.

Classify the following polymers into elastomers and fibres :

(Rubber; Nylon 6,6; Buna-S; Terylene )

(a) What is biodegradable polymer ? (1)

(b) Write any one example for biodegradable polymer. 1)

SY 64 6



15.

16.

17.

18.

19.

20.

21.

22.

TMVo(HAEM NYEIGHEBBUD DTGB VIR BHIMIBNIAN]. ag)TMOBINE ?

QI0RIMBIVEMINENE MUBLITDATNOG MYMDGHUD af)OTDE0 ?

(1B MOEDIO ©2|aNALe MIAA @Al |Gl

+ CH,C/ +2Na 90w , 9L|aMo
DMLNA

(O1GIMBHUB af)IMI@3 af)a® ?

sDMLNAQ MB2NMBHIM DaIGWIWBNAN BNE GlITIBHBIOS Cald af) O IDG.

@RBBUWIONa0W)  HleQoem)o @Bl olM@IMEs EmMe  aldlauem ddlwies

Gal@)HUB af) )@,

@069 @ANIGENM CaldFA0)BHOS EDLIDCIVONOIDHUB, OANMIONDHUD af)aN @O0

@I@1012]9) D

(0eyB; eemee1e 6,6; 6MIYEMO-af)av; 6)901@108)

(a) enicolWaIUAB CaldSlAd af)aNO@3 af)a® ? 1)

(b)  enuc@oSleWawenilud caldSlaclm a@o@EsIENo 830} DBIANBEMo af)P)MId:. @
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23.

24.

25.

26.

27.

28.

29.

Answer any 5 questions from 23 to 29. Each carries 3 scores.

Explain the three types of solids on the basis of their electrical conductivities.

(a) What is osmotic pressure ?

(b) Write any two examples for osmosis in nature.
Write any three differences between order and molecularity.

(a) Name two important xenon fluorides.

(b) Give the structure of the above xenon fluorides.

Classify the following as 1°, 2° and 3° alcohols :

() CHy-CH-CH,
OH

G
(i) CH,~C - CH,
OH

(ili) CH, - CH, - CH,0H

(a) What is denaturation of protein ?

(b) Give one example for denaturation.

(a) What are synthetic detergents ?

(b) Write the name of any two types of synthetic detergents.

SY 64 8
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23.

24.

25.

26.

27.

28.

29.

23 2)®@3 29 A160W)BS €2 10343 aBO®ESIEI0 5 af) IRODIM DON o af) V3@

3 capod afl®eo. (5x3=15)
OOAUBY® 2I0EIHEUIHIWIOS @RSITLOIMDHI@3 QIO AlBIBCOEBBRIOS M)A DOGBUD
flvodl @109

(a) 830aVER0SIB ABGo af)NIT3 af)a® ? 4))
(b)  (UIBI®PENSS BOTVEAOTVITVIMN aGOMESILI0 AENE DBIAODEMo af) 9 I®)d. )

308WalM)o M0gElB9)L1001GlE9 )0 aBO@BIEI M)A DIODA o af) PO

(a) ©ME (IWOMEA|S HAVEMIMS aQIOOOUIN Cald af) 9D} §))

(b) MBS a106aTIAlE )N HAVLEMIE AQONOWIBHBINS BRYDNDT af) ). )

1°,2°, 3° @y@3H0Ga008300 @I@162 9}

(i)  CHy-CH-CH,
OH

G
(i) CHy~C ~ CH
OH
(ili) CH, - CH, - CH,0H

(@) UM )EOAHUM B30a0 GIISIAB ag)aANIM3 agf)a®) ? ?2)
(b)  AlMO|)EOAHM B0} DBIAODEMo af)PIE))d. @
(@) mlaodle wlgdead” agand@d agam ? §))
(b)  ago®®IlEIN 0ME)mee MlamHla, WIQRRMBIBHRIOS Cald af) )} 2
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30.

31.

32.

Answer any 4 questions from 30 to 34. Each carries 4 scores. 4x4=16)

(a)
(b)
(©)

(a)
(b)
(©)

What is a fuel cell ? 1)
Write any one example for fuel cell. 1
Write any two differences between primary cell and secondary cell. 2)
What is adsorption isotherm ? 1
Write the equation for Freundlich adsorption isotherm. 1)
Draw the graphical representation of Freundlich adsorption isotherm. 2)

Write any four characteristic properties of transition elements.

Explain the following reactions :

33.
(a)
(b)
34. (a)
(b)
SY 64

Cannizzaro reaction 2)
Aldol condensation reaction 2)
What is Hinsberg’s reagent ? 1)

How will you distinguish primary, secondary and tertiary amines using

Hinsberg’s reagent ? 3

10



30 2)®@38 34 A16OW)BS 210333 aBO@ESILI0 4 af) ANOTIM DOMAo agf) ;).

4 capod afloo. (4 x4=16)
30. (a) ANRAIGE OHAV@3 Af)aIMOT ag)a® ? 4))
(b)  anRAIT HAVEIM ABO®EBIENS 30} DBIAOBEMO af)§) D). @
(©)  eo@Iad aavellmip HAVEHROl HAVENM ARO@BILI} ONE TIO®A o af) )@ . (2)
31. (a) ®RAWEIVIBAIaHB HAF)ETVICDo af)INIMI af)a® ? 1)
(b)  enmeeila] @PAWETVIBAIHUT Hag)CTVOC®AINHIG TVLAIID: Jo af) 9D . 1)
(¢)  (neeellaf @RAVETVIBAIHU Haf)CTLIC®AINAT (NIaflD o fl(@Fld06mo QIO (2)
32. 93D LaHS MEIGHEIBBIOS MOLI AVIBIAIGIBUB af)P)@))d.
33. @26 mmlalemnanal allvodleclee)d :
(a)  @OAMIaVICOI (IAIBRBTMo 2)
(b) @ERYTICAWIUD HENBABEIVLAUMS (A 1QIQDBH Mo 2)
34. () a0lBIVENIBVV OlEWRA af)IMI@3 ag)(®) ? §))
(b)  aoladaVENIBVIV FleRM” DalcWIrla] O6IAd], HAVEHARA], HSBHUO] @RAIM)-
OB )M DIOMA o 610 ? 3)
SY 64 11
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Answer any 6 questions from 1 to 7. Each carries 3 scores. (6 x3=18)

1. (a) LetR bearelationdefinedon A= {1,2,3} byR={(1,3)(3,1)(2,2)}.Ris 1

(1)  Reflexive (i1)) Symmetric
(iii)) Transitive (iv) Reflexive but not transitive
(b) Consider f: R — R, given by f(x) = 4x + 3, find the inverse of f. 2)

2. Consider a binary operation * on the set {1, 2, 3, 4, 5} given by the following

multiplication table :

* 1 2 3 4 5
1 1 1 1 1 1
2 1 2 1 2 1
3 1 1 3 1 1
4 1 2 1 4 1
5 1 1 1 1 5
(i) Compute 2 * 3 and 3 = 2. (1)
(i) Is = associative ? §))
(i11)) Compute (2 * 4) * (4 = 5). 1
2 5 0 -7
3. Inthematrix A= -1 -2 4 5
0 4 1 2
Write: (i)  The order of matrix A. (1)
(1)) The number of elements of A. 1
(i) A" 1)
4.  Find the values of x, y and z from the equation : A3)

{3x+7 4 }{0 4}
y+1 z-5] [2 1

SY 65 2



1 2)®@8 7 210088 €21030BEG8  ago®mslele 6 agINOTIM DODOOAYL®)d>.

3 capod afl@o. (6x3=18)
1. (@ A={l2,3} @lad mldgailaflgiss a0} dleelarmosm R = {(1,3) (3, 1) (2, 2)}
ag)@l@3 R 1)
(i)  dlagaadlal (i) odasley
(iii)  (somaviglarl (iv) dlagamilanem soadaviglar @oe)

(b) f:R—> R @3 f(x)=4x+ 3a)0M aDot)aUM al@BlWMIBN)D. EDABEAULAV aNoU)aH0B

f @ene)ailsla)ds. (#))

2. {1,2,3,4, 5} agam G)m)gma 988 * af)aN HONIMA] B0a|COH3 algld@o6M al)ales

£S5 ENIND
* 1 2 3 4 5
1 1 1 1 1 1
2 1 2 1 2 1
3 1 1 3 1 1
4 1 2 1 4 1
5 1 1 1 1 5
(1) 2 %3,3 %2 &»ane)allslon)d. (1)
(i) = @pemvoadlcwdlal @ryesmo ? 1)
(iii) (2% 4) % (4 * 5) @erRalSlen)D. (1)
2 5 0 -7

3. A=| -1 2 4 5 |apamoaElglad

0 4 1 2
(i) oaEly A ©eS 308WA af)9)®)d. @
(i)  A-Q@)9S BRoNEBBIANS af)elPo af)¥I®. @
(iii)) A' ag)9)®)d. @
3x+7 4 0 4
4. = @RYWI@ X, ¥, Z af)aVIQUIOS MEILo HOSMD>. A3
y+1 z-5 2 1
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2 4

5. (a) The value of : is . 1)
@®» 10 (i) -18
(i) 18 (iv) 0

(b) Find the area of the triangle with vertices at the points (1, 0), (6, 0) and (4, 3). 2)

3 2
) ) ) d2y dy . (dy .
6. (a) The degree of the differential equation {@j + (aj +sin (a +1=01s 1)
1 3 (i) 2
(1) 1 (iv) Not defined
. . . : . dy x+1
(b) Find the general solution of the differential equation — = . 2)
dx y+2
7. (a) Find the direction ratio of the vector i+ 23 +3k. 1
(b) Also find unit vector in the direction of the vector i+ 23 +3k. 2)
Answer any 8 questions from 8 to 17. Each carries 4 scores. 8 x4=32)
1
8. a)  Write the principle value of sin~! — . 1
(a) princip NA 1)
b) Show th *1l+ Lt 3
(b) ow that tan™ 77+ tan™ 5 =tan™" 5. A3

5

3
9.  Express the matrix { ! } as the sum of a symmetric and a skew symmetric matrix. (4)

10. (a) Check the continuity of the function f given by 2)
x+5 ; x<1
f(x) = atx=1
x—=5 ; x>1
o dy . |
(b) Find 7 ify=x"% x>0 2)

SY 65 4



10.

‘24

(a) 5 o mello . 1)
1 10 (i) -18
(i) 18 @iv) 0

() (1, 0), (6, 0), (4, 3) agaMlal WHlBauIBBO® (@ leHoeMETOMR almildamno

HEMNANIHND>. 2)

3 2
2
(a) (d yj + (QJ +sin [gj +1=0ag)an Wlan0BaH @3 DEHIaHZ (Wl

&2 ) \de dr

@RYH)AM) M

i 3 (i) 2

(1) 1 (iv) ml@glailafislel
(b) % - +; o) AWlaNOMBaH @3 HEHIaHOHF LRMOG3 HAVOLINH  HETS)-

y+

allslen . 2)
(a) i+ 23 +3k OAUBSANG WDOSHB COCAUIO HO6TN ). 1)
(b) i+ 2} + 3k 08 @RC® AlVIe)ss WEITIQ OHAIBSE HOEN)D. )

8 2)@@3 17 Ae0WBS ¢21034SG3 oBo@BILNe 8 af)aNATIM DOMOOAH) ).

4 capod afloo. (8 x4=32)
(a) sin”! % 003 (lB0Vla @3 ME1L0 af) 9)®)E:. (1)
b) t ’llﬂ *ll—t a1 oo 3
(b) tan [ Ftan 5y =tan 5 ag)am) oS00 A3

3 5
[ { 1 } af)amn otslgqgmm 30) m’lm(s’loe)"mots’l(ﬁﬂcsn@@)go ay cmeLs”Ics;oLs’laqg”lcsogm)go

@)W af)QI®)D. @)
x+5 ; x<1
(a) fx) = s - a)M afoWaH@ x¥ = 1 @3 HNEIMHAV BREEMIHWAN
X — ;X
al1B1GUOIWH9)D>. (2)
. d
(b) y=x""% x>0 @odd EXX 06N>, 2)
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11. (a) Find the rate of change of the area of a circle with respect to its radius ‘r’ when

r=4cm.

(b) Find the intervals in which the function f is given by f(x) =x? + 2x — 5 is

(1)  Strictly increasing

(i1))  Strictly decreasing

12.  Use differential to approximate 1/25.3

13. Match the following :

@) fleﬂdx (@) loglx|tc
(i) ﬁdx (b) tanx+c
(iii) f e* d (c) tanx+c
(v) [ sec?rar @) e+e

14. (a) Sketch the graph of the circle x> + y* = 4.

(b) Find the area enclosed by the circle x? + y? = 4.
. . . . dy y 4
15. Consider the differential equation PRt

(a) Write P and Q.
(b) Find integrating factor.

(¢) Solve the differential equation.

16. (a) Find the angle between the vectors i+ 2} + 3k and 3i - 2} +k.

(b) Find the projection of the vector i+ 3} + 7k on the vector 7i —} + 8k.

SY 65 6
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11. (a)

(b)

830} AUYODOIOF @Yo 4 CM A PAVORSHMMTVAla] allqldgnarsl-
£16NBIGIAM QY@ O Vo HEIMENI DN ). )
830) afoWaHM f(x) =x? + 2x — 5 aBO®OOES eD3BeQILfI@3 @RYEM 2)
(1)  Strictly &)S)®@)0

(if)  Strictly 3)0@)®@)o Sal@anN@ ?

12, aflan0MBaty@3 DalcoUlaf \/ 25.3 @)S a3 6B QIlEl 306MmM)ds. 4)

13, Gal©)oalS] Gal@aend :

. 1
0 |2 (@) loglx|tc (1)
1
(i) | dx (b) tanx+c @
(iii) f &' dx (c) tan'x+c )
(v) [ sec’xar @ e+c M
14. (a) x>+ y2 =4 ag)am alyODORNOAG afl(@o QIOY)H. 1
(b) x>+ y2 =4 a)aM QOO oﬂcg;"l@%o O], A3)
d
15. axz + % = x> af)M MVAQNG:Yo a IV BB
(@) P, Q af)9)m)d. e}
(b)  BeWdlow) andRHB BNl ilSles)d . @
()  aqVAAIID Lo MIBRLIVEMo E12 1Y) 2)
16. (a) i+ 23 + 31A<, 37— 2} +k af)amil HAUBS0)BHUBEFNSVIENSS C30613 DHe1_)allSland. (2)

(b)

SY 65

i+ 33 + 7k a)IM 6A1H0lOH3 7i —f + 8k W)OS CALNSS 6)(AIIRBAHUMB BHOeMD.  (2)

7 P.T.O.



17. (a) Direction cosine of y axisis . 1)
1 (1,0,0) (i) (0, 1,0)
(i) (0,0, 1) (iv) (0,0, 0)
(b) Find the vector and Cartesian equations of the lines that passes through the points
(3,-2,-5)and (3, -2, 6). A3
Answer any 5 questions from 18 to 24. Each carries 6 scores. (5 x6=30)

18. Consider the system of linear equations

x+2y=2
2x+3y=3
(1)  Write the system in the form AX = B. 0}
(i) Find A°1. 2)
(ii1)) Solve the equations. 2)
(iv) Is the system consistent ? Why ? 1
19. (a) Lety=asinx+Dbcosux.
. . dy d?y
1 Find — and —-. 2
Q) o and 3 )
i) Prove that £Y 1y =0 1
(1) rove that o y=0. 1
(b) Consider the function f(x) = x% +2; x € [-2, 2]
(1) Find f(-2) and £ (2). 1)
(i1))  Verify Rolle’s theorem. 2)
20. (a) Evaluate fx log x dx. 3)
/2
sin®x
(b) Evaluate f 7 2 dx. 3)

SY 65
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17. (a)

(b)

Y-@RAHUOTNONE AWOHUTM HRHOHTVB

1 (1,0,0) (1) (0, 1,0)
(1) (0,0,1) @iv) (0,0, 0)

0y

(3, -2, -5), (3, -2, 6) agal MiMOSITIBH)S] BHSANYEAIIBD)AN COEIWIOS

QIPHAB, HOASlaH Y3 AVLAAIODIEEBUB BHOETN)M.

©))

18 M®@3 24 2160W)BS ¢21034HEGE aBO®BILNS 5 fENOTIM DODOOA))d.

6 (S(Q.))O@ aflo.

18. x+2y=2

2x + 3y =3 ag)am aA¥lquo alBlWemIa9)d .

(1)

(i1)
(iif)
(iv)

19. (a)

(b)

20. (a)

(b)

SY 65

laqueo® AX = B af)am 0)aI015i@3 af)9)@).
A7l @ene)ailslee)d.
LAAIH§ETB3U MIBRLIVEMo 6121 )d.

gD MUIqV0 HeMAVITVAY” @RHEEMO ? af)TMOBHTE ?

y=asinx+bcosx

. dy d?y

i —, —= &06M)d.

(i) .75 aomy
2

(i1) % +y = 0 @yenemam) 61 ilee)d.

f(x) =x% +2; x € [-2, 2] af)aM aDoWaHB aIBlWENIE9)H:.

1 £(=2),£(2) ®oem)H.

(if)  GOOUWBIY MlELIIO VDBIWOIEEMO Af)aM) alGIGUDIWIBN)D:.

fx log x dx &06m)d.

/2

sin” x
J 2 2 dx 06mM).
sin"x +cos x

(5 x 6 = 30)

0y
2
2
1)

2

0y

1)
2)

(€))

©))

P.T.O.



21. (a)
(b)
(©)
22. (a)
(b)

ixi= . 1)

1 o0 (i) 1
(1) -1 (iv) None of these

T T SR > A A A
Find a x b,if a =2i+j+3kand b = 3i+5j—2k. 3
Find the area of a parallelogram whose adjacent sides are given by the vectors
> A A > a A
a=2i+j+3kand b = 31+5j-2k. 2)
Find the intercepts cut-off by the plane 2x + y—z = 5. 2)
Find the distance of the point (2, 5, —3) from the plane 6x — 3y + 2z = 4. “4)

23. A random variable ‘X’ has the following probability distribution :

X 1 2 3 4 5
P(X) k 2k 2k 3k 2k
Determine :
) k 2
(i) P(X= 3) ?2)
(iii) P(2<X<5) (2)
24. Solve the following LPP graphically : (6)

Minimise Z = 200x + 500y

Subject to constraints :

SY 65

x+2y>10
3x+4y <24

x20,y=0
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21. (a)

(b)
(c)

22. (a)
(b)

1xi= . 1)
i o0 (1) 1

(i) -1 (iv) epale@ommag]

a=2i +j + 31A<, l_; = 3i+ 53 ~ 2k @M T3 a x l_; NR)af1S106)0. A3)

=2 +f + 31A<, b=3i+ 5} ~ 2k auflal QINEBBBOWBR  AVORITN BB

aflqfldemo @:0em)m. 2

2x Ty —272=15 o) ®Llo GRAUEBHEIG3 DENSISN)IN HABAOTVAIQIBHUD $HeM)d. (2)
(2, 5, -3) agyam nflm)ail@d aflam)e 6x — 3y + 2z = 4 af)aM GLICHICLIYIBS 3)00

OGN, )]

23. X agam 0omdawe caldlomigland cnlomimilelgl aflayleanierad 21j01es 6d0S)-

olaleman) :
X 1 2 3 4 5
P(X) k 2k 2k 3k 2k
i k )
(i) P(X= 3) ()
(11) P2 <X <35) agyamlal 306mM)b. 2)
24, (2aflee@3 AlGI@3 ®26% H3:05)3Blee) M LPP ail@@uonsmo 61219 (6)

Minimise Z = 200x + 500y

Subject to constraints :

SY 65
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Reg. NO. : ceeevvvvnnricnsnnrnccsssnnnnecsnns SY 66
NAME ¢ coeveeneeeereennecerreeneecreesseccseenne
Time : 2 Hours
MARCH 2019 Cool-off time : 15 Minutes

Part — III
COMPUTER SCIENCE

Maximum : 60 Scores
Special Schools (H.1.)

General Instructions to Candidates :

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.
Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

f13§080018r 039608353 ) 1d0))MIBCFI601303 :

MBGley TLA@GTIM ajoea 15 AlMg” ‘@B Boa0 ©6Se” DENOIEIEe)o.

‘@B B0ah OOS’ CaldBYEIBURB al@lalWea|SOM}o DBMOBBUD  BRYAVY@EMo
£21Q0M)o DalGWIUIHN)D.

DOTNOGIBUB af)$IANGIM MM €2 10BYEBUB YIBLIANAQ o AWV BHEMo.
WIBE3U0EBU3 MI9IQIM)o UIBLIA1BY o AIOWBHEMo.

@OMNAS BHSENDHUR, al(@BURB, (NaD)®HUB, ag)avial Qmm)(ocsnjﬂcﬂaﬂ ©®6aM
DMROW1TlEneMo.

Gal0B§6BU3 ALIVWOBOITILe Melwig)me.
@RYQUUDIMBS TLOLIDIT TVAAUIDEIBUD IBHIS)BNEMo.

CEDUOMBDHUB  alQYIMIBHOOD  HOTIANCLIQO)HUB  BYOHWBB  B0)
EDRIBESIEM D Raldb0eMAle alBld0a00El@3 DalcOUllee)aldd aldslg).

)
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Answer all questions from 1 to 10. Each carries 1 score.
The wrapping up of data and functions into a single unit is called
(a) structure (b) object

(c) pointer (d) array

is the name of the operation to insert an item into stack.
(a) Push (b) Pop

(c) Insert (d) Delete

The port number used for HTTP service is
(a) 21 (b) 22

() 25 (d) 80

The name of the tag used to create a definition list is
(a) DD (b) DL

(c) OL (d UL

keyword is used to declare a variable in JavaScript.
(a) int (b) char

(c) var (d) float

1s the smallest unit of stored data.
(a) Field (b) Record

(c) File (d) None of these

SY 66 2
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1 2)®@3 10 016085 af)L10 G218 IBUWRBEN)o DOMOOAY®). 1 c1Dd alleo.

(10 x1=10)
l.  awogoe®)o aNot)aHOHM@)o CalBBD 6Q @ENIGIV] al0W)AM Cald’ @Y.
(a) structure (b) object
(c) pointer (d) array
2. quoaslon 80} Oaf)Qo CalBIMM@IOM ag)am) alO@)aM.
(a) Push (b) Pop
(c) Insert (d) Delete
3. HTTP avdgflavimcaiens]l 9a16@ouilanm calods mamid @Ye.
(@ 21 (b) 22
(c) 25 (d) 80
4. oWallailauad ellgy aildonleednd @alc@ouflogyamsowy  @wyem.
(a) DD (b) DL
(c) OL (d UL
5. cacdlomilid wlgoad ea19oad JavaScript-a3 9ale@ouileeam @leaidaw’ @RYaM.
(a) int (b) char
(¢c) var (d) float
6.  aRQONo H210lW EAVIBA WIGIHW ag)MM) alo@)am).
(a) Field (b) Record
(c) File (d) None of these

SY 66 3 P.T.O.



7. Select the datatype used in PHP from below :
(a) int (b) char
(c) integer (d) bool

8.  PHP files have a default file extension of
(a) .cpp (b) .doc
(¢) .Jpg (d) .php

9.  Example of cloud computing is
(a) AT™M (b) e-mail
(c) Twitter (d) None

10. The name Alan Turing is related to disciple.
(a) Al (b) SQL
(c) HTML (d) None
Answer any 8 questions from 11 to 20. Each carries 2 scores. 8x2=16)

11. Explain difference between static and dynamic memory allocation.

12.  Define structure. Write the keyword which is used to define a structure in C++.

13. Define stack.

14. Write name of any two static data structures.

15. Write basic structure of an HTML document.

16. What are the different types of lists in HTML ?

SY 66 4



10.

11.

12.

13.

14.

15.

16.

@069 ®aldles)malil@d alany PHP-@)es andq 86Sa] af)Siearm9 @) .

(a) int (b) char

(c) integer (d) bool

PHP ©6a0e1)3:8)6S 660008 af)SeEIuadauad @YeIN.
(a) .cpp (b) .doc

(©) .Jpg (d) .php

HOW BoalGloudland ©Ba0osmMo @RYem.

(a) ATM (b) e-mail

(c) Twitter (d) None

@REIM S)TloU) af)M Cal® Qflat@0 20 NITMWEa |SIBleeM).
(a) Al (b) SQL

(c) HTML (d) None

11 2)®@3 20 AOOW)BS €2 10B3IIBUIGH aBO@EIEe 8 af)INOTIM 2OMOHA)®) M.
2 ¢apod all@o. 8x2=16)
aRoglas ©ReACl BRERIIECHNAHM)e HOHAWMOH HAMAC] BRELICHNHM)o ®ailenss

QU@ LOMVo af) P)®)d>.

M (SDa|@ MIBQYa 106, MVSB2)@ M8 lee)aiod C+ @3 Dalc@ouilammm @leaiday

aR@®96M ?

ARods AdQa a6,

aBO@BIENC OENE TLIFlHH WIGD MV(SHa|0)DHBIAS Cald af)9)®)d.

HTML cawosnoaadleg cmiavle: MVSdal@ ag) ).

HTML-@3 9aic@ouilanam aflollw @oo elquieod cRa@oesea@osm ?

SY 66 5 P.T.O.



17.

18.

19.

20.

21.

22.

23.

24.

Two strings are given :
a="“A good”
b = “teacher”

Write JavaScript statement to combine these two strings.

Explain loops used in JavaScript.

Write the classification of users in a database system.

Write the names of the arrays used in PHP.

Answer any 8 questions from 21 to 30. Each carries 3 scores. 8x3=24)

A C++ statement is given :
int *p, q =8;

p=&q;

cout << *p;

(a) What type of variable is p ?

(b) What is the use of & symbol in the second line of above C++ statement ?

(c) What is the output after the execution of third line of above C++ statements ?

Write different types of inheritance.

Write an algorithm to perform deletion operation in a queue.

Explain basic data types used in JavaScript.

SY 66 6



17.

18.

19.

20.

21.

22.

23.

24.

QENE MV (SloIT IO EIBHIS)H BN :
a="“A good”
b = “teacher”

gDV O6NE" V(S BBV 30)2la{lanom)as JavaScript cQLOOAS ag)9)®).

JavaScript-@3 9a16@0Ule9)M Lh)a 368 3)0la] allvddledlee)d.

aWwogeEsNIay MgLEIE8 W)ALAIVIOM af)eBOM @0 G@lajldlasam) ?

PHP-@3 9a16@0Ufl@e)am GROODS)OS Gal® af)9)m)d:.

21 2)®@3 30 A190WBSB 210338 o@O@BILN 8 ag)INOM DOMOHAL)®)db.

3 capod allao. (8 x3=24)
830) C++ cqugeaad” @aey @anldlasam; :

int *p, q =8;

p = &q;

cout << *p;

(@) p af) IRl aB® O6Sa| @REM ?

(b) MBHE@d oadldlegam C+ cqugeaadlond cameoaec eseimloel allesmnieiload

Da IGO0 af)aMEN ?

(©) MBHWR o30s)EBdlamMm C+ cqugeaaddlom  3-0a60m aIdl af)dTVleNS
62 1QEIUUD F1FAN BDZal)g af)aNEM ?

aflalw o H8e0dQEWAVIBHOSB G)Fla] af)9))D .

queue-eel AWlRilaHas 630a|C0aHU §21QMTIMBS GRGIENICI®0 af)I®)d.

JavaScript-@3 9a16@0ouflaeam emiaila, awdQo aeSalid»ed »dlaf allvdlaolee)s.

SY 66 7 P.T.O.



25. Explain different types of Webhosting.

26. Define following terms :
(1)  Entity
(i) Relation

(iii) Attribute

27. Arrange the following commands in SQL into DDL and DML :

CREATE, SELECT, INSERT, ALTER, UPDATE, DROP

28. Explain operators in PHP.

29. Explain the different Cloud Service Model.

30. Write short note on cyber space.

Answer any 2 questions from 31 to 33. Each carries 5 scores. 2x5=10)

31. Write an HTML code to insert an image in a webpage. It should contain a heading and

a scrolling text “Inserting image”.

32. Write an HTML code to create the given table :

Science

Boys 25

Girls 25

SY 66 8



25.

26.

27.

28.

29.

30.

31.

32.

aflalw ®oo §#AIMICa0IT o608 B)0la] allvddle:dlee)d .

@96 AVIBIHNMM QAENBUB MNBQa 09
(i) Entity
(1)) Relation

(iii) Attribute

@969 ®aMI@lee)m SQL &2a008aw)ses DDL @i DML @)o @yl (@:21la@100)d :

CREATE, SELECT, INSERT, ALTER, UPDATE, DROP

PHP-®floe1 830a]c0Q0)368 &)dlaf allvodlaolee)s.

aflalw ®oo goaw audallay’ caoawe®ed 3)ola] allvddle:dlee)d .

OOHILENIB MVEaITlOM B)Flaf LIoel) 3Gl [ ®QYIOIIS)D.

31 2)®@3 33 AOOWBS 210338 @O@BILN 2 ag)INOM DOMOOAL)®)db.

5 ¢apod all@o. 2x5=10)
80} 2fl@o eami calzdlmd 9Beensslenomss HTML code ag)9)md. sn@I@3 630)

ea0UWlow)o, “Inserting image” ag)am AVEEOHEoU) OSBHAVo GAIMo.

@969 H3IS)IIN AN ¢S ilud MBenilee)10a3 @RIV M HTML code ag)9)m)d

Science

Boys 25

Girls 25

SY 66 9 P.T.O.



33. The structure of a table is given to store the details of students :

Data Type Description
A unique data to
Roll Number Numeric S
identify a student
‘ A minimum of
Name String
20 character
' Total mark of a
Total Numeric

student

Create a table of student

(a) Insert data into the fields. (at least 5 record)

(b) Display all the details of students in the table.

(c) Display the details of students with the highest mark.

SY 66

10




33. #Glomes allalesswd  TLoddHle)anm  @RNIIMI®  csmildload  aV(SHad

@al@leeM) :

Data Type Description

A unique data to
Roll Number | Numeric S
identify a student

‘ A minimum of
Name String
20 character

) Total mark of a
Total Numeric
student

AYAWZ” )M Caldl@3 B30} ¢Snilud aTldolee)@.
(@) afl@Buw)dEled oo DMEIVAS BalQd.
(b) eseildlenss 9)5leg10s UWIQRI@aV” (@ 1a3) Oa 11>

(€) B> MS)H@3 20BHS) AT 3SlBHR1OS AUIQITBAV BHOEIB9)D>.

SY 66 11
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Reg. NO. : coovvvvnericninnnrccsssnnnnecsnns
Name : ..coovveeerecrinneccsssnnsencsssnsenees
Time : 2% Hours
MARCH 2019 Cool-off time : 15 Minutes
Part — III
HISTORY

Maximum : 80 Scores
(Map of Ancient India accompanies)
Special Schools (H.1.)

-

General Instructions to Candidates :

f13§080018r 039608383 ) 1d0))MIBCFI601303 :

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.
Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.

MBGley MA@TTIM ajoea 15 2AlMlg” ‘@08 B39a0 ©6Se” DeNoIElEe]o.

‘@B B0aD 6OS’ CaldBYEIBURB al@lalWea|SOMo DBMOGBUD  BRYAVY@EMo
£210M])o DalCGWIUTBN)D.

DTMOBBUB af)$IIM@IM DM GalOBEIBUY UIBLIANBQ o AIOWBHEMo.
WIBE3UEBU3 MI9IAIM)o UIBLIA1BY o AIOWBHEMo.

BN 3SENDHUB, al(@BURB, N0aD)®HUB, ag)avial DOMOCala|Glo8 @eaN
DMROW1GleseMo.

Gal0B§EBU3 ALIVWOBOITIL Melwig)me.
@RYQUUD MBS MLOLIBIT TVAAUIIDYEIBUD BI3ISIBHEMo.

CEIDIMBHUB  OalQIMOIBHITD  HOTIANCLIQO)DHUB  BYOHWIBZ B30}

DRI ESIEM D Daldhb0eMAlo alBld::0000H@3 DalcOUl¥e)0I108 al10SIg).

)

SY 67
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1.  Choose the correct answer from the alternatives given below :

(a)

(b)

(©)

(d)

SY 67

Who wrote Arthashastra ?
(1) Kautilya

(i)  Chandragupta

(ii1)) Megasthenes

(iv) Asoka

The first Director-General of the Archaeological Survey of India

(i)  Mortimer Wheeler

(i1))  Cunningham

(ii1))  John Marshall

(iv)  S.N. Roy

The later capital of Magadha
(i)  Rajgriha

(i) Kashi

(iii)) Pataliputra

(iv)  Sanchi

The founder of the Mauryan empire

(i)  Chandragupta Maurya
(1)  Samudragupta
(iii)) Harisena

(iv) Prabhavati Gupta

@4x1=4)



1. 269 63:05)0dleeMaIRi@d alan)e LBIRIBINOC HDAEETINSIOTNVIND : (4 X 1 =4)

(a) @ERAMOUIMYo af)P)TNV®IQ ?

(1)  ®oslenad
(i)  a1BUQIM
(iii)  eanauailay’
(Iv) ®@PREUIOH03
(b) MMM a1)000ITY) VIAGHIMTDNOHE BRYBIHTD WA RMOG3
(i) c20dslad afleid
(i)  @arleBanoo
(111) =06 M0RaH@3
(1Iv)  af)av. af)aB. GO0
() 2aLWWIES allelorl HLRINVNIMo
(1) ©IREWaOO
(i)  ®oudl
(iil))  at0seflaly@o
(iv) avoeail
(d) 2™y AVI@IRY AVNJAlB:D
(1)  alBYIel a3
(i)  aqv@yBUeID
(ii1)) aO®@lETLVMO3

(iv)  (@1c0QIGH )gl

SY 67 3 P.T.O.



2. Match the following table : @x1=4)

A B
Hinayana Birth place of Buddha
Mahayana Buddha’s first sermon
Lumbini Great Vehicle
Saranath Lesser Vehicle
3. Write in chronological order : @4x1=4)

(a) Dandi March

(b) Cabinet Mission

(c) Jallianwala Bagh Massacre

(d) Quit India Movement

4.  Find out the relationship of item (a) and fill in the blanks of item (b) accordingly :

@H (@
(b)
(i) (a)
(b)
(i) (a)
(b)
(iv) (a)
(b)
SY 67

@x1=4)

Samatva Samajam : Vaikunda Swamikal

S.N.D.P. :

Atmavidya Sangham : Vaghbhatananda

Sadhu Jana Paripalana Sangham :

Adukkalayilninnum Arangathekku : V.T. Bhattathirippad
Onnekalkodi Malayalikal :

Pazhassi Raja : Mavilathodu
Velu Thampi




2. a1QIeS ®ANIGIES alSld (HAOQ SO

) enil
adlm@omo eN1RLONS R@AVOLIo
Da00WIMo N1YRBLEOAY BIYBY (A I8IAHEMo
enoendladl alell@ a1vanmo
aLOEMILD 62101 QI9a0Mo

3. B®ORINEMMI (HABTHIMTI af)P)®): :

(a) BeMwWl o

(b)  @pmimg afleuad

(c) =oellead QIoeINMmIdY) &)SOENIE!

(d) B9 AL (@1aTVnomo

4. (a) alleonomlor! aloaye MIMWo AMAIILIGS  BR)C 6]

Al WIS :

(i) (@) qLamI VMR- : OOAIBIEMO VIO BHUD
(b) S.N.D.P. :

(i) (a) @RELANBL MVorLls @ AUIRSIMMS

(b)
(i) (a)

(b)
(iv) (a)
(b)
SY 67

LOW) &M al@laldeIm votLlo :

@RS)E98IGMIaN)e GROBCOMES : V.T. e5@lala]os

BCOMHITICHIS| ALIWISIHUD :

MQ%W 0022 : moafleIcom™mIs

calenommil :

@x1=4)

@x1=4)

(b) afleowo

@x1=4)

P.T.O.



5. Locate the following places on the outline map of India provided :

(a) Lucknow

(b) Delhi
(¢) Jhansi
(d) Meerut

Answer all the questions from 6 to 12. Each carries 2 scores.

6.  Examine the concept of Varna System.

7. Write any two features of Mahajanapadas.

8.  Explain the features of the Gotra of women.

9.  What is Amaranayaka System ?

10. What is Mahanavami Dibba ?

11. Who were the Jotedars ?

12.  What is Fifth Report ?

SY 67 6
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5. @mMIAlemnam  HADIWIOS  @aISAIIG  @IHY  ORHIS)TMIGISHNAN  TLOLIHBUY

@RSWOBEI [S)OTD : 4x1=4)
(a) elxmm

(b) awmdaol

(c) @owoadavl

(d) dlog

6 2)®@3 12 0160V af)£10 Ga1IBLEBIBAN)0 DTMANAY)®)d. 2 caVIA afl®o.
(7x2=14)

6.  QIdgn alyITLNe@eER)Ola] AllvdB2Be)D.

7. DadIRMalBEBS)NS aBO@BIEN0 VME (LICDIBMDHUB af) ).

8.  (MJax)es cnI@OIHd Malleuoet®HUB allaidlen)d.

9.  @RAOMOIWES ALMIBIWOo af)INIDB3 af)a®) ?

10.  @a00maial 3lén) af)anNO@3 af)amoem ?

11. ¢20e5608208 @GRYEIW)IM) ?

12.  @Rem 100 G1Ga |08S af)aMO@3 af)a® ?

SY 67 7 P.T.O.



13.

14.

15.

16.

17.

18.

19.

20.

21.

Answer any 3 questions from 13 to 16. Each carries 3 scores.

Summarise the teachings of Jainism.

Write a brief note on Kitab-ul-Hind.

Examine the role played by Zamindars in Mughal India.

What is oral History ?

Answer any 4 questions from 17 to 21. Each carries 4 scores.

Evaluate the features of Virashaiva Movement.

What is Mahayana Buddhism ? Explain.

Write a short note on Akbar Nama.

[Mlustrate the life of the people of Tinais.

What is Pakistan Resolution ? Explain.
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13.

14.

15.

16.

17.

18.

19.

20.

21.

13 2)®@8 16 2160288 ¢a1033SEI3 aBO®BLN0 3 af)IROTIM DODMOOA) ).

3 capod afloo. B3x3=9)
OOHRMAM (AICENIIWMETBUD 2 1)OIBN WYY,

SO0 9@ aGlBleaMeEN)0la] 80) eieel allaiosmo af)9)®)d.

MWUB DAL HTLAIBIBNIAB AaOlaflO)IN g ANlvoAlBGEBe)w.

Q106209 2 1B1(@o af)ANIT3 )0 ?

17 2y@@3 21 219088 ¢210333SE1a3 ago@mslels 4 af)aNOmIm 2OMOOAH;®)d:.

4 capod afloo. 4 x4=16)

aflleeevoal (IMoomomIHd (LANECVH® 0B allelIRlo)om)D.

Ma00WOM NIRLAG af)MIEM ? AfluoEl BBl B>.

@RGNIB MONOWENOa] 21)0IBS af)9)®)>.

@lemagloel Rmeang)1es Hlalmeamendla] allaiclea)s.

aldFITLNOS (11RO a)aNI@3 af)T ? AfNluoEld:0lBe)d:.
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Answer any 1 question from 22 to 23. 5 scores. (1 x5=5)

22. Analyse Al-Biruni’s description of the caste system.

23. Describe the features Gopurams and Mandapas during the Vijayanagar period.

Answer any 2 questions from 24 to 26. Each carries 8 scores. 2x8=16)

24. Evaluate the major features of Harappan culture.
Hints : ¢ Drainage system
e The Citadel
e Burial system

e The end of the civilization

25. Prepare an essay on the topic Mughal ‘Capitals and Courts’. Areas to be included :
Hints : e Capital cities
e The Mughal Court

e Titles and gifts

26. How did Mahatma Gandhi transformed Indian Nationalism a mass movement ?
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22.

23.

24.

25.

26.

22 @3 23 A190W)B8S ¢ 10363 aBo@Eileno 1 af)edNamlm’ 2OMOOAI®)D.
5 capoad. (1x5=5)

201 QAIITNOHVEN Ol )88 @RM3 milo)emlees afllalesmoe afllvddhEIMo 6)a1Q)d:.

AlROMUNO HOLICLISTITIOL! G RMBSIESW)o AMLAIBBSIESWIo TVANGUAHEIBUD

aflIcleed.

24 )@@ 26 Q10O ¢a1034IBSEG8 aBO@EBIEN0 2 af)INOTIM DOMODA) @)D
8 capod afl®eo. 2x8=16)
a000a |18 MVeMIO@TOG Mer MVANCUH®DUD alleIdlo)oTm)d:.
V) IMDHWD : @ BRYIBN M3 TV(MUBIWo
*  GB03
e vAIASHS AlG)

*  TLAVUBIODTNOG GRAM Yo

MUNSDOONS  EITVOIMENBlo  OBIFOIBBle  af)MM  AlaHOOCNENOla] B0)
DalMPAVo MQI0IEN)D. DU |SICONENE CAQILIHUD
VYIMBHWD (@ OEITLOOM MUNOEIBUD

* MWUB OBHIFO00

¢ a1BQild8) TVENOMEBS)o

DN YM8 CRUTIEHW AaOOGRINITWI af)BBOMWINM B0} RMGIW (A ITLNIMAIEH

mogﬂ@@" ?
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For Question No. 5

Map of Ancient India
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